MULTI CHOICE QUESTIONS FOR THE WEBSITE FOR “ACCOUNTING 2”

Disk title A22MultiChoice

CHAPTER 6 – PARTNERSHIPS

6.1 The function of a profit and loss appropriation account is to

(a) Allocate profit and losses to partners

(b) Account for interest on drawings

(c) Set amounts out of profits for particular purposes

(d) All of (a) to (c) √
6.2 One of the following is not part of a profit and loss appropriation account

(a) Interest on capital

(b) Bonus to a partner

(c) Salary of an employee √
(d) The net profit

6.3 The capital adjustment account is required

(a) To adjust the books before the entry of a new partner √
(b) To include the new partner’s assets and liabilities

(c) To determine allocation of the net profit to partners

(d) To record partner’s takeover of assets

6.4 Which item is not part of the capital adjustment account?

(a) Devaluations of assets

(b) Revaluations of assets

(c) The creation of new provisions

(d) Calculation of interest on capital prior to the new partner arriving √
6.5 The realisation account is used

(a) To wind up a partnership √
(b) Realise the assets of a business before a new partner is admitted

(c) A summary of the partnership financial activities

(d) To calculate the profit sharing ratio

6.6 Which item is not part of a realisation account?

(a) Partner’s takeover of assets

(b) Legal expenses of winding up

(c) Calculating goodwill √
(d) Listing of assets to be sold

6.7 The court case of Garner vs Murray means that financial losses of a partner are shared by the existing partners

(a) Equally

(b) In their profit sharing ratio

(c) In proportion to their capital at the time of dissolution √
(d) As stated in the Partnership agreement

6.8 Current capital accounts are used as

(a) As working accounts for each partner √
(b) To show the proportion of capital that is fixed

(c) To determine the profit sharing ratio

(d) None of these

6.9 The raising of a Goodwill account, for an existing partnership, is recorded in the

(a)  Profit and loss appropriation account

(b)  Capital adjustment account √
(c)  Realisation acocunt

(d)  None of these

6.10 A and B share profits and losses 3:2. They admit C for one sixth share of profits. What is the new profit sharing ratio of A, B and C?

(a) A15:B 10: C6

(b) A20 B   5: C5

(c) A15:B 10: C5 √
(d) A10:B 10: C10
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